THESE DRAWINGS ARE APPLICABLE ONLY TO THE PRODUCT||ORAWN BY: |CHECKED BY: ]

M ” SPECIFIED. THEY MAY NOT BE USED FOR THE ASSEMBLY WW.S. W.W.S.
1. ALL FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS. SPECIFIED ANCHOR EMBED TO 75" MAX. FRAME WIDTH AND/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY |[FioF: BATE:
BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO. THEY BE USED FOR RATIONAL AND/OR LOCAL APPROVAL 1=24 06/08/21
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO STRIKE SCREWS INTO SUBSTRATE (3 | [CF ANY PRODUCT NOT PRODUCED BY THE MANUFACTURER
TRANSFER W‘ND LOADS TO THE STRUCTURE PER STR!KE PLATE SEE "FRAME 'STATED ON_THESE DRAWINGS. E
3. THESE NON—IMPACT RATED PRODUCT INSTALLATIONS ARE IN ACCORDANCE WITH AND MEET THE HINGE REQUIREMENTS )- v g
REQUIREMENTS OF THE 2018 INTERNATIONAL BUILDING CODE (IBC). ANCHOR REQUIREMENTS TABLE™ ON
4. ALL ANCHORS SECURING PRODUCT FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING MAX. FRAME | QUANTITY THIS SHEET FOR SCREW
SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE HEIGHT PER PANEL REQUIREMENTS (HEAD & SILL) &
WOOD. »
5. 10 THE BEST OF OUR KNOWLEDGE, THE PRODUCT SHOWN HEREIN IS CERTIFIED & QUALITY 119.5 6 ., .,
ASSURED BY A NATIONALLY ACCREDITED CERTIFICATION/QA ENTITY & SHALL BE LABELED IN 107.875" 5 6" MAX. — l-‘ *5” 5’;{:. @ — = 6" MAX. z
ACCORDANCE WITH CERTIFICATION/QA ENTITIES SPECIFICATIONS. PRODUCT ASSEMBLY IS NOT PART OF 39.375" 2 3 I S
THIS DRAWING AND SHALL BE IN ACCORDANCE WITH THE MANUFACTURER'S QUALITY ASSURANCE . s v v v Iz
SPECIFICATIONS & TESTING REPORTS. 83.875" 3 TN \ / 6" MAX g
6. CERTIFICATION OF THESE PRODUCT INSTALLATIONS SHALL BE CONSIDERED VOID IF ANY OF THE N il N 4 : °
FOLLOWING APPLY: 1) THEY ARE INSTALLED WITHOUT A BUILDING PERMIT FROM THE APPLICABLE LOCAL 2 -
BUILDING DEPARTMENT. 2) IF THEY ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR ggsg&%gsBsH%VgALO&ﬂTOH&S R@gﬁmﬁgﬁﬁg 4 % I L\r f 2
EXPERIENCED WITH WINDOW/DOOR INSTALLATIONS. 3) IF CHANGES HAVE OCCURRED TO THE | STRIKE ] FRAME SCREWS OR g
PRODUCT'S CERTIFICATION ENTITY'S CERTIFICATE THAT CAUSE THESE INSTALLATIONS TO BE INCORRECT ONLY. THE GOVERNING CONDITIONS ON ANY / \ PLATE INSTALLATION CLIPS WHERE
OR INCONSISTENT WITH WHAT HAS BEEN TESTED. SPECIFIC DOOR SHALL BE THE LESSER OF N ' OPPOSITE " S
e S SR T T WD o e O M I POLCS THOSE SPECFIED N THE DOORS STATE | | (T ! . SEQURGENTS TABLE" ON |
c . SHALL AL : ) . . 4 ‘ ‘ .
8. THESE DRAWINGS CERTIFY THE PRODUCT INSTALLATION ONLY. WATER PROOFING OF THE INSTALLED APPROVAL OR THAT SHOWN IN THESE NIl / l \ & I ?E%Ulgggg[\l TEOQABLE ON
PRODUCT IS NOT PART OF THIS INSTALLATION CERTIFICATION. THAT RESPONSIBILITY SHALL BE THAT OF DRAWINGS. | -
THE MANUFACTURER &/OR INSTALLER. — N / {l \ " REQUIREMENTS (CLIPS ARE Shoo
T NOT APPLICABLE AT SILL). EuSo
INSTALLATION EVALUATION IS BASED ON APPLICABLE ANCHOR STANDARDS AND/OR =2 | \ g?ﬁ =
INFORMATION & RESULTS FROM APPLICABLE TEST REPORTS. THE BUILDING CODE T INAGTIVE | ACTIVE HINGE SCREW INTO ar
VERSION CONSIDERED WITH THE EVALUATION WAS THAT IN FORCE AT THE TIME OF " __] L SUBSTRATE (1 PER HINGE). E=z<J
THE EVALUATION. IN THE EVENT OF CODE VERSION CHANGES/UPDATES OR IN THE = N | » SEE "FRAME ANCHOR 8% .o
EVENT THAT NEW OR ADDITIONAL TESTING IS COMPLETED ON THE REFERENCED é N ’ REQUIREMENTS TABLE" ON = 35 ‘_l_
PRODUCT, PRIOR TO STATING CODE COMPLIANCE, THE MANUFACTURER SHALL CONFIRM . HINGE § N
WITH THE INSTALLATION EVALUATION ENGINEER OF RECORD THAT THE INSTALLATIONS . It THIS SHEET FOR SCREW moa©
SPECIFIED HERE—-IN ARE CURRENT WITH THE THEN CURRENT TESTING, CODE AND % , REQUIREMENTS. 5 o
APPLICABLE STANDARDS. < N I L 2 2
. L 1 ~ S5
o —-—
. ~ I I =
FRAME ANCHOR REQUIREMENTS TABLE , INSTALLATION NOTE: - ]
OPENING TYPE FRAME/CLIP TO OPENING MINIMUM|  MINIMUM WHEN NECESSARY, INSTALLATION o ' \ / i §%
(SUBSTRATE) FASTENER TYPE EMBED |EDGE DIST. XSI{ngE gé\C()RBESU%IsE[T)HA‘TQTH b B \ | / < - <4
FRAME/SILL_SCREWS i T L 16" MAX. O.C. &5 o
(3) MIN. 2X6 WOOD FRAME OR BUCK INDMDUAL SIDES OF THE DOOR | =z b
(MIN. GR. 3 & G=0.55) NO. 10 SMS OR WOOD SCREW |1 1/4" | 3/4" MAY USE ONE OR THE OTHER \ 1 ) (SIDES) e e'8§
MIN. 18 GA. 33 KSI METAL STUD | NO. 10 OR. 5 SELF TAP/DRILL SCREW| FULL 172" ANCHOR METHOD (EXAMPLE: LEFT B : | d———}—— 5 g o=
MIN. 1/8" THK A36 STEEL NO. 10 OR. 5 SELF TAP/DRILL SCREW| FULL | 1/2" SIDE MAY USE CLIP METHOD STRIKE / y o 2. -
(| MIN. 1/8” THK 6063-T5 ALUM. | NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL | 1/2" WHILE OTHER SIDES USE FRAME 4 \ ,' 4 .
il ) MIN. C-90 CMU (1) 1/4" CONCRETE SCREW 11/4" 2 SCREWS) ! Iz L_ o2 uwo 'gn:z‘.
i MIN. 2500 PSI CONCRETE (1) 1/4" CONCRETE SCREW 11/2" 2" b \! | q——_LB" e % ; gw 2e3
HINGE SCREWS - AX. ool G &Y
A a X Q x a5y
G) MIN- (?;jis‘ vé%?%i”éi&%f““ NO. 12 SMS OR WOOD SCREW |1 1/4"| 3/4 N R 7} ,%'L ’lA q ,._' . 6 * e gv; g2
MIN. 18 GA. 33 KSI METAL STUD NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" MAX. 616 MAX. §8 L‘éé Egg
MIN. 1/8" THK A36 STEEL NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" | WH w9 .g8%
MIN. 1/8” THK 6063-T5 ALUM. NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 172" EXTERIOR ELEVATION: §FLR‘:AMSEC R&V&OR ?Ei)usxggggmgﬁ o= 8% 2"
MIN. C—90 CMU OR 2500 PSI CONCRETE| (%) 1/4" CONCRETE SCREW 114 2 . ) . DOUBLE RECTANGULAR DOOR TABLE” ON THIS SHEET® FOR = g;E &
STRIKE_SCREWS e o =5
(3) MIN. 2X6 WOOD FRAME OR BUCK SCALE: 1/2" = 1'-0 REQUIREMENTS. 222
(MIN. GR. 3 & G=0.55) NO. 8 SMS OR WOOD SCREW 18 3/4” (SCREW OR CLIP MOUNT CONDITION) § 8
I MIN. 1B GA. 33 KSI METAL STUD NO. 8 GR. 5 SFELF TAP/DRILL SCREW | FULL 1/2"
g - ANCHOR/SUBSTRATE_EVALUATION NOTE: ;
i MIN. 1/8” THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL /7 e D SUSSTRATES HAVE BEEN ALLOWABLE DESIGN uJ
MIN. 1/8" THK 6063-T5 ALUM. NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2 ANALYZED IN ACCORDANCE WITH THEIR APPLICABLE STANDARD(S) PRESSURE e
@) MIN. C-90 CMU (1) 3/16” CONCRETE SCREW 1 1/4 2" AND ARE FOUND TO BE CAPABLE OF SUPPORTING ALL LOADS (DOUBLE SWING DOORS) @2
MIN. 2500 PS! CONCRETE (1) 3/16" CONCRETE SCREW 1 1/2" 2" iMPOSED ON THEM UNDER THE GUIDELINES OF THIS DOCUMENT. 52
: ANY SUBSTRATES OR CONDITIONS OUTSIDE OF WHAT IS SHOWN MAX. | ALLOWABLE PRESSURE -
INSTALLATION CLIP_SCREWS HERE-IN SHALL BE SUBJECT TO JOB SPECIFIC ENGINEER'S FRAME 3o
MIN. 2X6 WOOD FRAME OR BUCK . . REVIEW & CERTIFICATION. N
(MIN. GR. 3 & G=0.55) NO. 8 SMS SCREW 13/87 ) 3/47 HEIGHT | POSITIVE | NEGATIVE w
WIN. 18 GA. 33 KSI METAL STUD __ |NO. B GR. 5 SELF TAP/DRILL SCREW | FULL | 1/2" (IN.) (PSF) (PSF) = 2N
MIN. 1/8" THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/27 : 119 1/2 0 50 4
MIN. 1/8" THK 6063~T5 ALUM, NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" EDGE DISTANCE MAY BE b =
" 95 1/2 70 70 $?
(1) CONCRETE SCREWS SHALL BE ELCO ULTRACONS, ELCO CRETE-FLEX, ITW RAMSET/RED DECREASED TO 1/2" IF % bl | e o TS
HEAD TAPCONS OR HILTI KWIK—CON H (HARDENED STEEL OR S.S.). SCREWS ARE ANGLED 15 17337
(2) CMU IS APPLICABLE AT SIDES ONLY. 70 20 DEGREES AWAY t22
3)2X6 BUCKS MAY BE RIPPED DOWN TO MIN. 4 1/4" DEPTH EXCEPT WHEN THE .
e ALATON CLP EONDION ARPLIES / FROM THE EDGE. ' ” 1 o 4




— TIORAWN BY:  |CHECKED BY: "

STRIKE SCREW INTO SUBSTRATE (1 PER e I
" STRIKE PLATE). SEE "FRAME ANCHOR ' = LA
REQUIREMENTS TABLE” ON SHEET 1 FOR | "
SCREW REQUIREMENTS (HEAD & SILL | , g
¢ " ( ) |37 7/8" MAX. °
37 7/8" MAX. ___| FRAME WIDTH N
FRAME WIDTH '
6" MAX. —=| | @ " max. | 6" MAX. —| '- ,l 6" MAX, 2
\ / 6" MAX. / 6" MAX. g
N p d b < (s
1 SRKE  [™JI~FRAME SCREWS OR 7 [~ FRAME SCREWS OR g
LN\ Poreoste INSTALLATION CLIPS WHERE oPPOSTE INSTALLATION CLIPS WHERE .
ol T SHOWN, SEE "FRAME ANCHOR : A\ 5 SHOWN. SEE "FRAME g
3 < [ < REQUIREMENTS TABLE” ON . o vay i n e - AN < ANCHOR REQUIREMENTS
X : N - SHEET 1 FOR REQUIREMENTS &/ & TABLE” ON SHEET 1 FOR
=
N ol \ (CLIPS ARE NOT APPLICABLE ! | FIXED |, REQUIREMENTS (CLIPS ARE oo
T AT SILL). = NOT APPLICABLE AT SILL). EUS8
e | \ HINGE SCREW INTO e SHBT
- ’ ACTIVE |/ SUBSTRATE (1 PER HINGE). " Bz <
= ol 4 SEE "FRAME ANCHOR = N 4 oL ¢
& | REQUIREMENTS TABLE” ON & <3<
: | HINGE SHEET 1 FOR SCREW : S853
% 1 | N REQUIREMENTS. % 5ol &
= . = < =iz
. 4l STRIKE \Lg : D N 6 z|2
N | " PLATE Q = S E
= STRIKE SCREW / - ' z 28
@ (1 PER JAMB _ | o | Sk
= Lock STRKE). M / a = P d N
SEE "FRAME 'ﬁL“ | 16" MAX. O.C. 16" MAX. O.C. zoe
ANCHOR | (SIDES) (SIDES) 53| .8
REQUIREMENTS | / ? ) ? = 32
TABLE” ON ; f f 531 oY
SHEET 1 FOR | /L stre % % o 24 2
REQUIREMENTS | |/ PUE | ol Bo 3,
il a~—~——L b a————L ‘f—.—Ji 5 §d$
|28 6" MAX. = 6" MAX. ég &’,g 563
6" q “{D\ o | 6" / l‘ 4 _{ o | <o .53
wax. 1 K MAX. MAX. ~ A ™ MAX. 359 4 224
Q
SILL SCREWS WHERE SHOWN. SEE B8l 55802
” h =z '\-—!
EXTERIOR ELEVATION; e ANCEOR REQUIREMENTS . EXTERIOR ELEVATION; x5 &
SINGLE RECTANGULAR DOOR REQUIREMENTS. | SINGLE FIXED PANEL e 522
SCALE: 1/2" = 1'=0" SCALE: 1/2" = 1'=0" 2 g
(SCREW OR CLIP MOUNT CONDITION) (SCREW OR CLIP MOUNT CONDITION) c O
ALLOWABLE DESIGN ALLOWABLE DESIGN R*h
PRESSURE PRESSURE g2
(SINGLE SWING DOORS) (FIXED PANEL DOORS) B2
i
MAX. | ALLOWABLE PRESSURE MAX. | ALLOWABLE PRESSURE |72
FRAME FRAME <0
HEIGHT | POSITIVE | NEGATIVE HEIGHT | POSITIVE | NEGATIVE z
(IN.) (PSF) (PSF) (IN.) (PSF) (PSF) g
119 1/2 50 50 119 1/2 50 50 —
95 1/2 70 70 - [RE-
95 1/2 70 70 | / | 33T
. SHEET NO.
2 of 4




FRAME SCREW PER ELEVATION

(SCREW HEAD MAY BE

STRIKE SCREWS POSITIOCNED AT THE STOP

PER ELEVATION

.
. S T .

LT

o

AGAINST THE JAMB)7

OR

3/8" MAX.
SHIM AT
EACH ANCHOR

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
REQUIREMENTS TABLE”

FRAME SCREW PER ELEVATION

(SCREW HEAD MAY BE
POSITIONED AT THE STOP OR

AGAINST THE JAMB) |

.
- a - e LY i -
T e
. 3 a

SUBSTRATE BY
OTHERS PER
"FRAME ANCHOR
REQUIREMENTS
& TABLE"-

3/8" MAX.
SHIM AT
EACH ANCHOR

OTHERS

SEALAN

BY

OTHERS

[/
1«

SEAL SPACE WITH LOW
EXPANSION FOAM
AROUND PERIMETER
OF DOOR FRAME

EXTERIOR

<<

FRAME HEIGHT

STRIKE SCREWS
PER ELEVATION

N

Y7 VIV
" SHIM OR GROUT

EXPANSION FOAM
AROUND PERIMETER
OF DOOR FRAME

EXTERIOR
|._—
€I
Q
A o
K Y
<C
A x
SEALANT
BY
OTHERS
3 _ —
’ ' T a e

SHIM OR GROUT
FRAME/SILL SCREW

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
REQUIREMENTS TABLE"

SECTION
SCALE: 1/2 FuLL \3/

(A

FRAME/SILL SCREW
PER ELEVATION

SHEET 4 FOR DIRECT MOUNT & CLIP

FRAME SCREW MOUNT SHOWN. SEE DETAILS ON

MOUNT DETAILS.

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
REQUIREMENTS TABLE"

PER ELEVATION
(B

SCALE: 1/2 FuLL \3/

FRAME SCREW MOUNT SHOWN. SEE DETAILS ON
SHEET 4 FOR DIRECT MOUNT & CLIP MOUNT DETAILS.

SECTION

3/8" MAX. SHIM __|
AT EACH ANCHOR

SUBSTRATE BY —-
OTHERS PER
"FRAME ANCHOR
REQUIREMENTS
TABLE"

FRAME SCREW—=—=
PER ELEVATION | ™

FRAME WIDTH

| SEAL SPACE WITH LOW
EXPANSION FOAM AROUND
PERIMETER OF DOOR FRAME

WW.S.

{jpLot:

1=2

DRAWN BY:

CHECKED BY:
WWS.

DATE: ]
06/08/21

DATE

BY

REVISION DESCRIPTION

(SCREW HEAD
MAY BE ¢
POSITIONED AT L
THE STOP OR - L
AGANST THE 7~
JAMB) _/
HINGE SCREW —% - 3
o [EXTERIOR] Prog
PER ELEVATION =, SEALANT BY OTHERS SHNS
O*U)"un‘l’
o,
5z
) SECTION /& 82.¢
SCALE: 1/2 FULL 3/ é%‘g%
FRAME SCREW MOUNT SHOWN. SEE Sl >
DETAILS ON SHEET 4 FOR DIRECT o Elop
MOUNT & CLIP MOUNT DETAILS. =4
1Lijo
3/8" MAX. SHIM __| Sxj:
AT EACH ANCHOR FRAME WIDTH z3ls
. o Wil
SUBSTRATE BY —- 2 s
OTHERS PER ] | SEAL SPACE WITH LOW 78| 42
FRAME ANCHOR ] = <+
. - EXPANSION FOAM AROUND LRl o
REQUIREMENTS PERIMETER OF DOOR FRAME 1 =2
TABLE - og Zl e
- ----—5;- - wl . _»
o OO0y Wz 223
" = O, zin
FRAME SCREW—=3 Tl Z6 gy
PER ELEVATION | P 28| J&zst
(SCREW HEAD o A <O L zE%
MAY BE \ 59| 9 Bz
POSITIONED AT ™~ , L ll@3] £ o3¢
THE STOP OR 0] o= Bt
AGAINST THE E |enE 3
JAMB) = =3
STRIKE SCREW—l Y z é;g
[EXTERIOR] & B
PER ELEVATION SEALANT BY OTHERS =
o
SECTION wlzg = |8
(oN T SIS S |E
SCALE: 1/2 FULL \3J .- ! o &
: ) 'i*% T
35 n DL Iz=
‘s : S ! N R E
~ (a8 P I Wik =
BRICK MOLD & JAMB EXTENSIONS ARE| 2% (@7 ™ O/t i
NOT SHOWN BUT MAY BE USED IN W iZE 0 SN 17337 | N
ADDITION TO ANCHORS SHOWN. ST F ot " SHEET WO. -
\.&%@%wt' of 4

77




3/8" MAX. SHM __|
AT EACH ANCHOR

SUBSTRATE BY —=
OTHERS PER o
"FRAME ANCHOR o
REQUIREMENTS  * °
TABLE”

FRAME SCREW—=
PER ELEVATION |, *°
(SCREW HEAD +
MAY BE
POSITIONED AT 7
THE STOP OR <7
AGAINST THE
JAMB)

l——— FRAME WIDTH

| —— SEAL SPACE WITH ELEVATIO
LOW EXPANSION
FOAM AROUND
PERIMETER OF
DOOR FRAME

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
REQUIREMENTS TABLE”

STRIKE/HINGE SCREWS PER

NS

INSTALLATION CLIP SCREW PER "FRAME
ANCHOR REQUIREMENTS TABLE" (2 PER
CLIP ANGLED 15 TO 20 DEGREES IF,
NECESSARY TO MEET EDGE DISTANCE

REQUIREMENTS)

B 5 CHRRY
» B s/t

SECTION

EXTERIOR

SEALANT BY OTHERS

(BN

CLIP)

SCALE: 1/2 FuLL \4/

FRAME SCREW MOUNT SHOWN. SEE
DETAILS ON THIS SHEET FOR DIRECT
MOUNT & CLIP MOUNT DETAILS.

SEALANF
BY
i OTHERS

NO. 8 X 3/4"—]
SCREW (2 PER

EXTERIOR

G

A

CLIP_INSTALL NOTES:

1) HEAD SECTION SHOWN.

3/8" MAX.
SHIM AT CLIP —L
: [/ *
INSTALLATION
cLp

SEAL SPACE WITH LOW
EXPANSION FOAM
AROUND PERIMETER
OF DOOR FRAME

INSTALLATION CLIP DETAIL

CLIP IS INSTALLED THE SAME AT THE SIDES.

2) INSTALLATION CLIP IS NOT APPLICABLE AT THE SILL.
3) FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS.

6.187 TO 8.187
o ) o o o
O o O o o o @ 1.875
o o o o ° )
A__BENT PORTION OF CLIP MAY BE SNIPPED OFF

0.052 —~

FOR PLACEMENT TO WOOD FRAME MEMBER.

(7) ERAME_INSTALLATION CLIP
(50 KSI STEEL)

CONTINUOUS WOOD MEMBER LESS
IN THICKNESS THAN A 2X__ BUCK
TO BE MIN. 4 1/4” DEEP (NOT
REQUIRED WHEN SHIM SPACE IS
WITHIN ALLOWABLE DIMENSIONS
SHOWN IN SECTIONS).

TABLE 7

SUBSTRATE BY
OTHERS PER
"FRAME ANCHOR
REQUIREMENTS

”

.

. .
<4 E
- .. N .

OTHERS

]

STRIKE/HINGE SCREWS
PER ELEVATION &
"FRAME ANCHOR
REQUIREMENTS TABLE"

£

It

N

\

FRAME_ SCREW
PER ELEVATION &
"FRAME ANCHOR
REQUIREMENTS
TABLE”

OPTIONAL DIRECT MOUNT DETAIL

TO SUBSTRATE WITH SPACER

(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME)
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS)

BRICK MOLD & JAMB EXTENSIONS ARE
NOT SHOWN BUT MAY BE USED IN
ADDITION TO ANCHORS SHOWN.

DRAWN BY:
WWS.
{PLOT:
] 1=2

CHECKED BY:
W.W.S,

DATE: 1
06/08/21

DATE

BY

|

REVISION DESCRIPTION

NO.

JOB INFORMATION:

PELLA CORPORATION
102 MAIN STREET

PELLA, 1A 50219
641-621-1000

* PELLA ARC:-HITECT OUT—SWING NON-—IMPACT

WOOD DOOR_INSTALLATION REQUIREMENTS

CONSULTANTS

W. W. SCHAEFER ENGINEERING &
CONSULTING, P.A. (REG. NO. F—14980)

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-744-3424

I

WARREN W. SCHAEFER, P.E.
P.E. NO. 113497

DRAWING

17331

NO. [REV. \

” SHEET

4 o 4

NO.




